
MATHS

BOOKS - NTA MOCK TESTS

DEFINITE INTEGRATION TEST

Single Choice

1. The value of the integral .

A. 

B. 

C. 

D. 

Answer: B
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View Text Solution

2. The value of  is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution
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3. The value of the integral  is equal to

A. 

B. 

C. 

∫
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0
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{f(x) + f(2a − x)}
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D. 

Answer: A

View Text Solution

4a

4. The value of  is equal to (where [.] represents the

greatest integer function)

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∫
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5. The value of integral  is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution
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6. Let . Then the real roots of the equation 

 are

A. 

B. 

C. 

(x) = ∫
2

1

√2 − t2dt

x2 − f' (x) = 0
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https://dl.doubtnut.com/l/_1ycj6e54A2oo
https://dl.doubtnut.com/l/_dNNS1j1JiEES


D. 0 and 1

Answer: A

View Text Solution

7. Let  be a fixed real number, suppose f is a continuous function

such that for all 


, then the value of 


 is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

T > 0

x ∈ R, f(x + T ) = f(x)

I = ∫
T

0
f(x)dx

∫
3 + 3T

e
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8. The integral  is equal to (where [.]

denotes the greatest integer function)

A. 

B. 

C. 

D. 

Answer: A

View Text Solution
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9. The , then the expressin for  in

terms of  where  is

A. 

B. 

I(m, n) = ∫
1
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tm(1 + t)n(dt) I(m, n)

(m + 1, n − 1) m, n ∈ N

− I(m + 1, n − 1)
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https://dl.doubtnut.com/l/_182HBq1H6Lz3


C. 

D. 

Answer: A

View Text Solution

I(m1, n − 1)
m
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2n

m + 1
n
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10. If the value of definite integral  is equal to 

, then  equals

A. 

B. 

C. 

D. None of these

Answer: A

View Text Solution

∫ dx

π

4

π

6

1 + cot x

ex sinx
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6
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4 (a + b)

2 − √2

2 + √2

√2 − 2
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11. Let  and be the inverse of f.Then the valueof g'(0)

is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution
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12. The value of  is equal to
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C. 
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D. 

Answer: B

View Text Solution

1

9

13. If  then  is equal to

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

I1 = ∫
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dx, I2 = ∫
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sin4 xdx
x sinx

1 + cos2 x
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3: 4
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4: 3
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14. The value of the integral , is equal to (where

[.] denote greatest integer function)

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫
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[sinx + [ ]]dx
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15. 

A. 

B. 

C. 

∫
b

a

dx =
|x|

x

b − a

|a| − |b|

a − b

https://dl.doubtnut.com/l/_C5EaPnSAfdgK
https://dl.doubtnut.com/l/_hvu4K4Dd1nsT


D. 

Answer: D

View Text Solution

|b| = |a|

16. If [.] denotes the greatest integer function, then the integeral

 is equal to

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫
π

0

[cos x]dx

−1

0

π

2

−
π

2

https://dl.doubtnut.com/l/_hvu4K4Dd1nsT
https://dl.doubtnut.com/l/_Bff5pn3X5j6z


17. The integral , equals is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

∫
0

dx

1
2 In(1 + 2x)

1 + 42

In2
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4

In2
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8
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18. The  and  are continuous functions then

 is

A. Depends on 

B. A non zero constant

C. zero

f(x) g(x)

∫
In

Inλ

1
λ

f( )[f(x) − f( − x)]x2

4

g(( )[g(x) + g( − x)])dxx2

4

λ

https://dl.doubtnut.com/l/_am9EKghIHIv8
https://dl.doubtnut.com/l/_I4lyvCAZZldL


D. None of these

Answer: C

View Text Solution

19. Statement I: , where  represents G.I.F. 


Statement II:  is decreasing function in .

A. Both Statement I and Statement II are true and the Statement

Statement II is the correct explanation of the Statement I

B. Both Statement I and Statement II are true but the Statement II is

not the correct explanation the Statement I

C. Statement I is true but Statement II is false

D. Statement I is false and Statement II is true

Answer: B

View Text Solution
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20. If , then

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∫
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0
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2
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0
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21. Evaluate .

A. 
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C. 

∫
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https://dl.doubtnut.com/l/_DHnEHv2MVvCi


D. 

Answer: A

View Text Solution

π

4√2

22. The value of  is 

A. less than or equal to 

B. is less than or equal to 

C. is negative

D. None of these

Answer: A

View Text Solution

∫
0

1
2 dx

√(1 − x2n)
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23. The value of ∫
π / 2

−π / 2

sin2 xdx

1 + ex

https://dl.doubtnut.com/l/_DHnEHv2MVvCi
https://dl.doubtnut.com/l/_DaUHrVlVFakh
https://dl.doubtnut.com/l/_xG6VdzCVE3Dl


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

π

8

π

4

π

6

π

3

24. Let  and is bounded. If 











(modulus of ), thena=

A. 

B. 

f(x) > 0 ∀x ∈ R
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[∫
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dx + a∫
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C. 

D. 

Answer: C

View Text Solution
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9
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25. The value of  is equal to (where {.} denotes the

fractional part function)

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∫
3

− 3
{sin{x}}dx

1 − cos 1

0

6(1 − cos 1)

6(cos 1 − 1)

https://dl.doubtnut.com/l/_GeFoMTDZdFMa
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https://dl.doubtnut.com/l/_SSp2BffIysWb


26. The integral  is equal to

A. 6

B. 2

C. 4

D. 1

Answer: D

View Text Solution

∫
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logx2

logx2 + log(6 − x)2

27. Evaluate 

A. 

B. 

C. 

D. None of these
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https://dl.doubtnut.com/l/_hDdTUOgQvdYL


Answer: B

View Text Solution

28. Given , then the value of  in terms

of  is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution
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sin t
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29.  is equal tolim
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https://dl.doubtnut.com/l/_dUUWBEyBHwun


A. 

B. 

C. 

D. 

Answer: D

View Text Solution
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30. The slope of the tangent to the curve  at the point

where x=1 is

A. 

B. 

C. 

D. 

Answer: C
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View Text Solution
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